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&5 K 4 .(ES Tmb(z)coﬂﬁ%ﬁ jj(:ilicn%é X 4 Tmﬁ%;g;kqi .Z.S jj(:ilicn%é X 4 ,(Er,na; J:mia(z)ott.a jj(giacn-%é & 4 J:Jﬁﬁ?b(:)d)ttm .Z.S jn(gigcn-%é
; 100kN/MZ#8 % % - ~ -[3mZEBZS ~ - -| 100kN/M%#8 %% - ~ -[3mERBZ S -~ -
Zhst ~ ZhnLst ~ ZThst ~ zhLst ~
2 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mERBZ S -~
ZThst ~ ZhnLst ~ ZThust ~ ZzhnLst ~
3 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mERBZ S -~
Zhst ~ ZhnLst ~ ZThst ~ ZhnLst ~
4 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mERBZ S -~
ZznLst 1.00 | 0.00 ~ 2.75 35.79 | =hst | 0oo ~ 275|268 13.79 ZznLst 1.00 | 5.00 ~ 6.70 35.79 | =S | 5,00 ~ 6.70 | 2.68 13.79
5 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mERBZ S -~
ZznLst 1.00 | 0.00 ~ 4.52 56.41 | =hst | 000 ~ 452|256 12.65 ZznLst 1.00 | 5.00 ~ 8560 56.41 | =N | 5,00 ~ 850 | 2.56 12.65
¢ 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mZE#BZ S -~
st 1.00 | 0.00 ~ 4.81 59.91 | #hst | 000 ~ 481|240 12.584 ZznLst 1.00 | 5.00 ~ 9.80 59.91 | =N | 5,00 ~ 9.80 | 2.40 12.584
. 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mERBZ B -~
ZznLst 1.00 | 0.00 ~ 4.80 59.86 | =hst | 0oo ~ 480|240 12.856 ZznLst 1.00 | 5.00 ~ 9.80 59.86 | =N | 5,00 ~ 9.80 | 2.40 12.85
g 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mERBZ S -~
ZznLst 1.00 | 0.00 ~ 6.28 78.89 | =N | 000 ~ 628|1.82 9.74 ZznLst 1.00 | 5.00 ~ 7.40 7889 | EnLS | .00 ~ 740 1.82 9.74
g 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mE#BZ S -~
ZznLst 1.00 | 000 ~ 628 78.89 | =N | 000 ~ 628|1.82 9.73 ZznLst 1.00 | 5.00 ~ 7.40 7889 | EnLS | .00 ~ 740 1.82 973
10 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mERBZ B -~
st 1.00 | 0.00 ~ 6.74 85.18 | =hst | 0oo ~ 674 1.91 10.26 ZznLst 1.00 | 5.00 ~ 8.67 85.18 | =nst | 65.00 ~ 867 | 1.91 10.25
17 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mERBZ B -~
Zhst ~ ZhnLst ~ Zhst ~ ZzhnLst ~
19 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mEfBZ 5 -~
Zhst ~ ZhnLst ~ ZThst ~ zhLst ~
19 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mERBZ S -~
ZThst ~ ZhnLst ~ ZThust ~ ZzhnLst ~
14 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8Z% % ~ -[3mERBZ B -~
ZThst ~ ZhLst ~ ZThst ~ zhnLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
TS ~ Zn LS ~ LS ~ Zh st ~
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